OPERATOR - BY OTHER b A 4 A
o FENCE LINE - BY OTHER kzj o 4er TYP.
. [ = | <
T SUPPORT POST/—: LATCH POST L “fi?N CURVE TOP PICKET - SEE
~ DETAIL
16' (COUNTERBALANCE) 35' (OPENING)
SECURE TRAC CANTILEVER GATE - CURVE TOP POTBE TRACKAL TRACK
PLAN 1/8"=1'-0" ) JJ = LUZX 112 SQ. AL
514" ~
L A | — 1"x 16GA PICKET
16’ COUNTER BALANCE 35' OPENING /_RM” 50, AL UPRIGHT
TOP TRUCK ASSEMBLY - SEE DETAIL — AANZSA DX I ) i
TRACK HORIZONTAL SPLICE - SEE -\ ; RAIL
DETAIL 4" SQUARE POST w/ CAP DETA' L 1/2..=1._0..
.LT.I — ALUMINUM RAIL - SEE
X DETAIL
(&) ALUMINUM TRACK
& — 2x2 SQ. AL. UPRIGHT BALL BEARING TRUCK
o ASSEMBLY
§ \TOP TRUCK BRACKET
E ) B g:;%‘zﬁiﬁg ASSEMBLY 4" SQUARE POST
© - TOP TRUCK ASSEMBLY
> |u BOTTOM RAIL HORIZONTAL SPLICE CONCRETE - BY OTHER DETAIL 1/2"=1-0"
gle SEE DETAL SECURE TRAC CANTILEVER GATE - CURVE TOP 113/8"
& i || eorrow cuoe asseneLy - see ELEVATION - OUTSIDE LOOKING IN 1/8"=1'-0 J - sounse post T
2 2" SQ. AL. UPRIGHT ALUMINUM TRACK - SEE ’—-’—"ﬁ
1-6" DETAIL
7 | — 2" SQ.x1" TUBULAR SPACER c? p q—
. TOP TRUCK BRACKET /c= b d—b
o= o o 7 iﬁ/ 3/8"x6" MACHINE BOLT 1/4' @ STAINLESS STEEL 242.50, AL, UPRIGHT =] |
24°xa 212" AL PLATE — ) W 777777 — ZxHOLLOW AL. SPLICE §§§§£E;§§§L§L&VE cap prOTECTOR FROM— ||
WELD ON OPENING SIDE —— 17 e S ) > B R 2'x4" AL. BOTTOM RAIL eUss TOP OF BOTTOM GUIDE
F/LEJ/ | — 2'x9GA EXTRUDED FABRIC _ ASSEMBLY TO BOTTOM
2'%4" SOLID AL. SPLICE / 3/8'x3" MACHINE BOLT +<T OF TOP TRUCK BRACKET;
‘ / | | TURNBUCKLE INSTALLED WITH
3/8"x3 1/2" MACHINE BOLT r’?_‘?* 7’:@ gy 4’?7 === q7 41’71 TENSION BANDS
ALUMINUM DOUBLE TRACK - E I I I I I ! ( 7 ! | L A L AL GUSSET ]
2" SQ.x1" TUBULAR SPACER // ! il igb B fgf - jgg ) %7 L ‘ s T b i 1 FrsemeT P s soTToRAL T -
~ | [——1"x16 GA AL. PICKET _
3/8"x6" MACHINE BOLT ~ BOTTOM GUIDE ROLLER —
1-6" S~ 24" AL. BOTTOM RAIL ASSEMBLY
2" AL. SQUARE NOTE: PICKETS & FABRIC OMITTED FOR CLARITY NOTE: PICKETS & FABRIC OMITTED FOR CLARITY
TRACK HORIZONTAL SPLICE BOTTOM RAIL HORIZONTAL SPLICE TURNBUCKLE ASSEMBLY BOTTOM GUIDE ASSEMBLY
NOTES: DETAIL 1"=1'-0" DETAIL 1"=1'-0" DETAIL 1/2"=1'-0" DETAIL 1/2"=1'-0"
. T
OPENING COUNTERBALANCE 105", TYP.
1. SPECIFICATIONS SHOWN CAN BE CHANGED BY THE MANUFACTURER ONLY. b NG e L RBAL AN %2
2. ALL COMPONENTS OF THE GATE TO BE COATED BLACK. OTHER COLORS AVAILABLE. TO INSIDE FACE OF | TO OUTSIDE FACE OF
3. VERIFY POST DEPTH AND FOOTING DIMENSIONS WITH LOCAL CODES AND SITE CONDITIONS. HeIE o=l
4. CUSTOM DIMENSIONS ARE AVAILABLE UPON REQUEST. 110" - 140" 76" N 27
5. OUTSIDE LOOKING IN, GATE LATCHES ON (RIGHT AS SHOWN). e e - i
6. GATE OPENINGS OVER 40" WILL REQUIRE ADDITIONAL SUPPORT. 400" 160"
7. OPENINGS OVER 30' REQUIRE A FIELD SPLICE AND DOUBLE TRACK (AS SHOWN). GATE 410" - 500 2570 ’

OPENINGS 30' OR LESS DO NOT REQUIRE A FIELD SPLICE AND ONLY REQUIRE A SINGLE

ALUMINUM TRACK AND 2 SUPPORT POSTS.

ADD 4" TO COUNTER BALANCE AND OPENING
FOR OVERALL LENGTH OF GATE.

CURVED TOP PICKET

DETAIL 1/2"=1'-0"

P\

COPYRIGHT © MERCHANTS METALS
ALL RIGHTS RESERVED

Merchants Metals

the first name in fence solutions

®

SECURE TRAC CANTILEVER SLIDE GATE
CURVE TOP -2 -4 RAILS

10' TO 50' WIDE OPENING x 6' TO 8' HIGH
(Nom.Dimension)

BY: \]R DWG. NO.
T T 10-50WX6-8H
Py ST CG CT 10-50WX6-8
DD ' AS NOTED




